Mathematics

Solving Inequalities
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Try this

What different integer values could x have?
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13 >4 4+ 3x
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| can see that the
Inequality is true if X = ...
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Independent task

Solve the following inequalities

1
dx +7 < 27 1>—+i x+8<3x—10
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Explore

If a =5, how many different ways can you use the expression cards
to complete the inequality frame? What if a = 10? What if a = 1007
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Try this
What different integer values could x have?
4 )

13 >4 + 3x | can see that the
N Y Inequality is true if x =..

\ e

You could try out different integers eg, 2 works, 3 works, but not 4 or 5.

We could also solve the inequality

13=>4+3x
Doesn’t work for all
)= Works for all values 3 or less values more than 3
3=2x
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Try this

Solve the following inequalities

1 x
dx +7 < 27 1> —4

2 10

4XSZO 1>i
x < 5 2 10
10 > x

X+ 8 < 3x —10

8 < 2x—10
18 < 2x
O < x
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Try this

If a = 5, how many different ways can you use the expression cards
to complete the inequality frame? What if a = 10? What if a = 1007
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2 different ways to complete ifa=5 (10 +taand a +5,0r 10 + a and 2a - 5 on the left)

3 different ways to completeifa=100r 100 (10 +taanda+5,or10+aand2a-5,ora +

5and 2a-5on the left)
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